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B.B.A. DEGREE EXAMINATION – 
JUNE 2009.

(AY 2004-05 batch onwards)

Second Year

QUANTITATIVE METHODS

Time : 3 hours Maximum  marks : 75

PART A — (3 × 5 = 15 marks)

Answer any THREE questions.

1. Define OR and discuss its  characteristics.
ö \¯À vmh  B ´ø Á  Áø µ¯Özx  Auß  ]Ó¨ ¤¯À¦Pø Í 
Â Á›.

2. Find  the  initial  solution  to  the  following  
transportation problem using North West Corner rule.

A B C D Supply
x 3 7 6 4 5
y 2 4 3 2 2
z 4 3 8 5 3

Demand 3 3 2 2
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R÷Ç EÒÍ ÷£õUSÁµzx  PnUQØS •uÀ wºø Á Áh÷©ØS 
‰ ø » •ø Óø ¯ £¯ß £kzv Ps k¤i.

A B C D Supply
x 3 7 6 4 5
y 2 4 3 2 2
z 4 3 8 5 3

Demand 3 3 2 2

3. Explain the ( ) ( )FIFOIMM /:// ∞ model.

( ) ( )FIFOIMM /:// ∞  Aø ©¨ ø £ Â ÍUSP.

4. List the differences between PERT and CPM. Write 
down the merits and demerits of CPM.

PERT ©ØÖ® CPM  ÷ÁÖ£õmiø Ú £mī ¼kP. CPM  ß  

{ø Ó ©ØÖ® Sø ÓPø Í GÊ x P.

5. Explain various strategies in Game.

B mhzvß  £À÷ÁÖ EzvPø Í Â ÍUSP.

PART B — (4 × 15 = 60 marks)

Answer any FOUR questions.

6. (a) List all the Operation  Research models.
(b) Use graphical  method  to  solve  the  following LP 
problem
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Minimize 21 23 xxz +=
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0,
124

6
105

21

21

21

21

≥
≥+

≥+
≥+

xx
xx
xx
xx

( A) ö \¯Àvmh  B ´Â ß  GÀ»õ Aø ©¨ ¦ •ø ÓPø Í² ® 
£mī ¼kP.

( B ) R÷Ç EÒÍ  LP   PnUQø Ú Áø µ£h® ‰ »® wºÄ  ö \
´P.

«a]Ö©©õUS 21 23 xxz +=

Pmk̈ £õkPÒ
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7. Solve the following LPP by Simplex method.

Maximize  zyxz 4610 ++=

Subject to  
 

0,,
300622
6005410

100

≥
≤++

≤++
≤++

zyx
zyx
zyx

zyx

R÷Ç EÒÍ LPP  I ]®̈ ö »Uì •ø Ó° À wºÄ  ö \´P.
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«̈ ö £¸©©õUS zyxz 4610 ++=

Pmk̈ £õkPÒ 
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8. Determine  the  optimum  basic  feasible  solution  to 
the following transportation problem.

D E F G H Supply
A 5 8 6 6 3 800
B 4 7 7 6 6 500
C 8 4 6 6 3 900

Demand 400 400 500 400 800
RÌUPs h ÷£õUSÁµzx  PnUQØS Ezu© Aï £ø h wºø Á 
PnUQkP.

D E F G H AÎ ¨ ¦

A 5 8 6 6 3 800
B 4 7 7 6 6 500
C 8 4 6 6 3 900

÷uø Á 400 400 500 400 800

9. Solve the following Assignment problem
Machines

M1 M2 M3 M4
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Jobs J1 5 7 11 6
J2 8 5 9 6
J3 4 7 10 7
J4 10 14 8 3

RÌUPs h Jx URmk PnUø P wºÄ  ö \´P

C ¯¢vµ[PÒ

M1 M2 M3 M4

÷Áø »PÒ J1 5 7 11 6
J2 8 5 9 6
J3 4 7 10 7
J4 10 14 8 3

10. (a) Give  some  important  applications  of 
queueing theory.

(b) The arrival rate and the service rate to a single 
window are respectively 25 and 35 customers  per hour. 
Assuming the M/M/I model.

Find 

(i) The average number of customers in the

(1) Queue

(2) System.

(ii) The  average  waiting  time  per  customer  in 
the
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(1) Queue
(2) In the system.

( A) Á›ø \  ÷Põm£õmiß  ]»  •UQ¯  £¯ß £õkPø Í 

ö PõkUPÄ ®.

( B ) J̧ Áº ÷\ø Á  ¦›² ® C hzvØS  ~Pº÷Áõº Á¸ø P, 

÷\ø Á  ö £Ö÷Áõº  Gs oUø P  •ø Ó÷̄  

©oUS  25 ,35  |£ºPÒ  GÚ  EÒÍx .   M/M/I Á›ø \ 

Aø ©¨ ø £ P¸zvÀ ö Põs k PnUQkP.

(i) (1) Á›ø \° À 

(2) {ø »¯zvÀ  Põzv¸¨ ÷£õº 

Gs oUø PPÎ ß   \µõ\›.

(ii) (1) Á›ø \° À

(2) {ø »¯zvÀ  Põzv¸US®  Põ»[PÎ ß  

\µõ\›PÒ.

11. Construct a network diagram and find the Critical 
Path, EST and LFT for the following data.

Activities (i-j) : 1-2 1-3 2-3 2-5 3-4
Duration (Dij) : 15 15 3 5 8
Activities (i-j) : 3-6 4-5 4-6 5-6 6-7
Duration (Dij) : 12 1 14 3 14
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R÷Ç  SÔ¨ ¤mkÒÍ  Â £µ[PÐ US  ö \¯À vmh  Áø µ£h® 
Áø µ¢x  ö \¯À vmhzvß  wº©õÚ¨ £õø u, EST  ©ØÖ® LFT 
B Q¯ÁØø Ó PnUQkP.

Activities (i-j) : 1-2 1-3 2-3 2-5 3-4
Duration (Dij) : 15 15 3 5 8
Activities (i-j) : 3-6 4-5 4-6 5-6 6-7
Duration (Dij) : 12 1 14 3 14

12. Solve the following game using graphical method.
B

b1 b2

A a1 -7 6
a2 7 -4
a3 8 -6

 R÷Ç EÒÍ B mhzø u Áø µ£h® ‰ »® wºÄ  ö \´P.

B
b1 b2

A a1 -7 6
a2 7 -4
a3 8 -6

———————
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